FER  FR33F06 5278

RUR)—hvyT AUSR

Y= %290ARIT NI937° 04T 3-A

NE 52 K ouT IN GR HDCP NET =

2% 42 42 84 10.0 14.0

#1E 40 41 81 6.0 75.0
3 42 42 84 9.0 75.0
4 42 43 85 10.0 75.0
5 43 42 85 10.0 75.0
6 40 45 85 10.0 75.0
1 41 44 85 9.0 76.0
8 42 41 83 6.0 71.0
9 |FRI R 46 4 87 10.0 11.0
10 46 41 87 10.0 71.0
" kB #a 42 41 83 5.0 18.0
12 41 44 85 1.0 78.0
13 39 50 89 11.0 18.0
14 43 47 90 11.0 79.0
15 49 40 89 1.0 82.0
16 38 49 87 3.0 84.0
17 |RE M 50 45 95 10.0 85.0
18 44 46 90 4.0 86.0
19 44 47 91 5.0 86.0
20 53 46 99 11.0 88.0
21 50 47 97 8.0 89.0
22 51 45 96 5.0 91.0
23 49 52 101 10.0 91.0
24 51 52 103 9.0 94.0
25 54 51 105 10.0 95.0
26 49 53 102 5.0 97.0
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FER  FR33F06 5278

RUR)—hvyT BYIR

Y= %290ARIT NI937° 04T 3-A

E £z K ouT IN GR HDCP NET =
B i 1BE 39 45 84 15.0 69.0
#E BE L 45 49 94 25.0 69.0
3 R’ —ER 41 49 90 19.0 71.0
4 1R £A8| 47 45 92 21.0 71.0
5 42 43 85 13.0 72.0
6 44 43 87 14.0 73.0
1 |EHE UETF 50 50 100 25.0 75.0
8 |EBAX HRA 51 57 108 33.0 75.0
9 |BT HME 43 53 96 19.0 71.0
10 51 54 105 28.0 71.0
11 |=RiEg EX 51 62 113 36.0 71.0
12 46 46 92 14.0 78.0
13 45 50 95 17.0 78.0
14 |fE”RK ®BF 56 53 109 31.0 78.0
15 46 46 92 12.0 80.0
16 46 55 101 21.0 80.0
17 52 44 96 13.0 83.0
18 |HFKR #x 52 52 104 21.0 83.0
19 |¥EE FF 50 57 107 24.0 83.0
20 57 51 108 25.0 83.0
21 57 56 113 28.0 85.0
22 44 55 99 13.0 86.0
23 48 54 102 16.0 86.0
24 |FTE BX 58 67 125 35.0 90.0
25 44 59 103 12.0 91.0
OPEN |f&#b HETT 46 48 94
G A S 45 53 98
mA B 53 47 100
=% =8 50 53 103
Gregory Rouault 54 55 109
SH —=% 56 55 1
#HE ¥ 56 56 112
BHE EF 61 52 113
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